AMENDMENT OF SOLICITATION/MODIFICA		CONTRACT ID CODE			PAGE OF PAGES		
2. AMENDMENT/MODIFICATION NO.	3. EFFECTIVE DATE	4. REQ	UISITION/PURCHASE	REQ. NO.	5. PRO	JECT NO.	(If applicable)
P00025	See Block 16C						
6. ISSUED BY CODE	893042	7. ADN	INISTERED BY (If other	er than Item 6)	CODE	00701	L
EM-Idaho Department of Energy Office of Environmental Mana Idaho Cleanup Project 1955 Fremont Avenue Idaho Falls ID 83415	gement	Idal 1955	Department no Operation Fremont Av no Falls ID	s Office enue			
8. NAME AND ADDRESS OF CONTRACTOR (No., street,	county, State and ZIP Code)	(x) 9A.	AMENDMENT OF SOL	ICITATION NO.			
PROTECTION STRATEGIES INCORPO Attn: Sean Williams 9717 Cogdill Road Ste 101 Knoxville TN 379323309	DRATED	9B. X 10A X 6S	DATED (SEE ITEM 11) MODIFICATION OF C -07F-0442N 243221FEM400 DATED (SEE ITEM 13	CONTRACT/ORDER NO	Э.		
CODE	FACILITY CODE	$ \mid$ \mid 0	8/19/2021				
	11. THIS ITEM ONLY APPLIES 1			NS			
Items 8 and 15, and returning cop separate letter or electronic communication which incl RECEIVED AT THE PLACE DESIGNATED FOR THE OFFER. If by virtue of this amendment you desire to deach letter or electronic communication makes referer 12. ACCOUNTING AND APPROPRIATION DATA (If requi	RECEIPT OF OFFERS PRIOR TO T change an offer already submitted , s uce to the solicitation and this amend uired)	nd amendme ITHE HOUR A such change ment, and is	nt numbers. FAILURE ND DATE SPECIFIED I may be made by letter or received prior to the ope	OF YOUR ACKNOWLI MAY RESULT IN REJE or electronic communica ening hour and date sp	EDGEM CTION (ation, pro ecified.	ENT TO BE OF YOUR ovided	
A. THIS CHANGE ORDER IS ISSUED FORDER NO. IN ITEM 10A. B. THE ABOVE NUMBERED CONTRAC appropriation data, etc.) SET FORTH C. THIS SUPPLEMENTAL AGREEMEN	ET/ORDER IS MODIFIED TO REFLE IN ITEM 14, PURSUANT TO THE A	CT THE ADM	MINISTRATIVE CHANG OF FAR 43.103(b).				
D. OTHER (Specify type of modification X FAR 52.243-3 Changes	**	s or T	ahor Houre (Sent 2000)			
E. IMPORTANT: Contractor is not	☑ is required to sign this document			_ copies to the issuing			
14. DESCRIPTION OF AMENDMENT/MODIFICATION (DUNS Number: Not Available UEI: JWA9MZBLNE44 The purpose of this modifica increase. With this modifica \$19,546,842.98. All other terms and condition Continued	tion is to update stion, the total co	Section ntract	n B to incor	porate the E	Healt		
	o document referenced in them C.A.	r 10	otoforo obones il '	ing unoberged 4 to 5	ıll for	and aff	
Except as provided herein, all terms and conditions of the 15A. NAME AND TITLE OF SIGNER (Type or print)	e aocument referenced in Item 9 A o		etofore changed, remai NAME AND TITLE OF (
Sean P. Williams - CEO a	nd President		ce H. Ruiz				
15B. CONTRACTOR/OFFEEROR	15C. DATE SIGNED		JNITED STATES OF AN			16C	. DATE SIGNED
(Signature of person authorized to sign)	11/22/2024	1	SRACE RUIZ (Signature of f	Digitally signed by GRACE RUIZ		D FORM 2	11/22/2024

CONTINUATION SHEET

REFERENCE NO. OF DOCUMENT BEING CONTINUED

GS-07F-0442N/89243221FEM400010/P00025

PAGE 2 OF 2

NAME OF OFFEROR OR CONTRACTOR

PROTECTION STRATEGIES INCORPORATED

ITEM NO.	SUPPLIES/SERVICES	QUANTITY		UNIT PRICE	AMOUNT
(A)	(B)	(C)	(D)	(E)	(F)
	Payment:				
	VIPERS https://vipers.doe.gov				
	Any questions, please contact				
	by call/email 855-384-7377 or				
	VipersSupport@hq.doe.gov				
	Period of Performance: 10/01/2024 to 09/30/2025				
	Change Item 00002 to read as follows (amount shown		İ		
	is the total amount):				
00002	Converte Convices shall be MCM and consist of				10 040 661 6
00002	Security Services shall be T&M and consist of those described in Section C.3 Period of				10,942,651.6
	Performance: 01/01/2022 to 09/30/2024.				
	Line item value is: \$10,942,651.69				
	Incrementally Funded Amount: \$10,777,206.58				
	07.774.0				
	CLIN-2 ceiling is increased by \$132,064.44 from \$10,810,587.25 to \$10,942,651.69.				
	\(\frac{10}{10}\)				
	Change Item 00003 to read as follows(amount shown				
	is the total amount):				
00000					4 100 450 0
00003	Security Services shall be T&M and consist of those described in Section C.3 Period of				4,193,453.3
	Performance: 10/01/2024 to 09/30/2025.				
	Line item value is: \$4,193,453.36				
	Incrementally Funded Amount: \$1,200,000.00				
	1110201100121 2011000 1111001100 42,200,000				
	CLIN-3 ceiling is increased by \$85,811.62 from				
	\$4,107,641.74 to \$4,193,453.36.				
	74,107,041.74 60 74,133,433.30.				
	Change Item 00004 to read as follows(amount shown				
	is the total amount):				
00004	Security Services, shall be T&M and consist of				4,331,307.53
00004	those described in Section C.3 (Option Line Item)				4,331,307.3
	Period of Performance: 10/01/2025 to 09/30/2026				
	Amount: \$4,331,307.53(Option Line Item)				
	CLIN-4 ceiling is increased by \$88,596.95 from				
	\$4,242,710.58 to \$4,331,307.53.				
		1	ıl		

SECTION B SUPPLIES OR SERVICES PRICES

Section E	3 - Supplies or Services/Prices	3
	,	
B.1	DOE-B-2006 CONTRACT PRICE (OCT 2014)	₫
B.2	DOE-B-2008 TIME-AND-MATERIALS CONTRACT (OCT 2014)	3
B.3	DOE-B-2013 OBLIGATION OF FUNDS (OCT 2014)	E

Section B - Supplies or Services/Prices

B.1 DOE-B-2006 CONTRACT PRICE (OCT 2014)

(a) This is a Time and Material (T&M) Contract. The Fort Saint Vrain (FSV) Physical Security Services Contractor (hereinafter, the "Contractor") shall provide the following services at the specified prices:

CLIN	Supplies/Services	Ceiling Total
00001	Transition Services, shall be T&M and consist of those described in Section C.2: Period of Performance: 10/01/2021 to 12/31/2021	\$79,430.40
00002	Security Services, shall be T&M and consist of those described in Section C.3 Period of Performance: 01/01/2022 to 09/30/2024	\$ 10,810,587.25 <u>10,942,651.69</u>
00003	Security Services, shall T&M and consist of those described in Section C. (Option Line Item) Period of Performance: 10/01/2024 to 09/30/2025	\$4 ,107,6 41.74 <u>4,193,453.36</u>
00004	Security Services, shall be T&M and consist of those described in Section C.3 (Option Line Item) Period of Performance: 10/01/2025 to 09/30/2026	\$ 4,424,710.58 <u>4,331,307.53</u>
	Total Ceiling	\$ 19,240,369.97 <u>19,546,842.98</u>

(End of Clause)

B.2 DOE-B-2008 TIME-AND-MATERIALS CONTRACT (OCT 2014)

- (a) The Contractor shall provide the fixed-hourly rates provided in PSI's response to solicitation #89243221QEM000003 dated June 21, 2021.
 - (1) For work performed by the Contractor's employees, the following labor categories, direct productive labor hours (DPLH), and fixed labor rates shall apply:

CLIN 00001						
Supplies/		Fixed Hourly				
Services	Labor Category	Rate	DPLH	Fully-Burdened Price		
Services	Security Police Officers (SPOs)	\$				
Services	SPO Shift Supervisors	\$				
Services	Protective Force Manager (PFM)	\$				
Services	Liaison (as described in C.2.0)	\$120.17	480	\$57,681.60		
Services	Administrative Support	\$45.31	480	\$21,748.80		
	CLIN 00002					
	January	1, 2022 - June 3	0, 2022			
Supplies/		Fixed Hourly				
Services	Labor Category	Rate	DPLH	Fully-Burdened Price		
Services	Security Police Officers (SPOs)	\$48.45	20,811.60	\$1,008,322.02		
Services	SPO Shift Supervisors	\$51.90	4,154.80	\$215,634.12		
Services	Protective Force Manager (PFM)	\$80.73	940	\$75,886.20		
Services	Commander/Instructor	\$71.47	940	\$67,181.80		
Services	Administrative Support	\$45.33	928	\$42,066.24		
Services	New Hire Training	\$27.56	800	\$22,048.00		

				
Services	Security Police Officers (SPOs) Overtime	\$56.08	1,328.40	\$74,496.67
Services	SPO Shift Supervisors Overtime	\$60.05	265.20	\$15,925.26
Services	SPO Supervisor Overtime (Training)	\$60.05	217.17	\$13,041.22
Services	SPO Overtime (Training)	\$56.08	1,087.83	\$61,005.35
			-TOTAL:	\$1,595,606.89
		CLIN 00002		+ =,= : =,= : = : = :
	July 1 2	022 - December	31 2022	
Supplies/	july 1, 2	Fixed Hourly	1,2022	
Services	Labor Category	Rate	DPLH	Fully-Burdened Price
Services	Security Police Officers (SPOs)	\$60.27	20,811.60	\$1,254,315.13
Services	SPO Shift Supervisors	\$63.06	4,154.80	\$262,001.69
Services	Protective Force Manager (PFM)	\$88.48	940.00	\$83,171.20
Services	Commander/Instructor	\$70.96	940.00	\$66,702.40
Services	Administrative Support	\$45.68	928.00	\$42,391.04
Services	New Hire Training	\$27.36	800.00	\$21,888.00
3ei vices	Security Police Officers (SPOs)	\$27.30	000.00	φ21,000.00
Services	Overtime	\$70.01	1,328.40	\$93,001.28
Services	SPO Shift Supervisors Overtime	\$72.78	265.20	\$19,301.26
Services	SPO Supervisor Overtime (Training)	\$72.78	217.17	\$15,805.88
Services	SPO Overtime (Training)	\$70.01	1,087.83	\$76,158.74
3ei vices	SFO Overtille (Trailling)	\$70.01	Labor Total:	\$1,934,736.62
			Other Direct Costs:	\$83,127.62
			TOTAL:	\$2,017,864.24
			TOTAL.	\$2,017,00 1 .24
	T ₁	anuary 1 2022 -	June 30, 2022 Total:	\$1,595,606.88
			nber 31, 2022 Total:	\$2,017,864.24
			gh January 31, 2024	\$3,613,471.12
		CLIN 00002	gii jailuary 51, 2027	Ψ3,013,171.12
	January 1 2022		ebruary 29, 2024	
Supplies/	januar y 1, 2025	Fixed Hourly	cbi uai y 2 3, 2024	
Services	Labor Category	Rate	DPLH	Fully-Burdened Price
Services		Rate		
Services	Security Police Officers (SPOs)	\$60.51	72 940 6049 560 40	
	Security Police Officers (SPOs)	\$60.51 \$63.29	72,840.60 <u>48,560.40</u>	\$ 4,407,584.71 2,938,389.80
Services	SPO Shift Supervisors	\$63.29	14,541.80 <u>9,694.53</u>	\$4,407,584.712,938,389.80 \$920,350.52613,566.80
Services	SPO Shift Supervisors Protective Force Manager (PFM)	\$63.29 \$88.84	14,541.809,694.53 3,296.002,193.33	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44
Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor	\$63.29 \$88.84 \$71.23	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90
Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support	\$63.29 \$88.84 \$71.23 \$45.85	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33	\$4,407,584.712,938,389.86 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38
Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90
Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs)	\$63.29 \$88.84 \$71.23 \$45.85	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67	\$4,407,584.712,938,389.86 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09
Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60	\$4,407,584.712,938,389.86 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09
Services Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53
Services Services Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training)	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73	\$4,407,584.712,938,389.86 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69
Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73 3,807.392,538.27	\$4,407,584.712,938,389.86 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62
Services Services Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training)	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73 3,807.392,538.27 Labor Total:	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1
Services Services Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training)	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73 3,807.392,538.27 Labor Total: Other Direct Costs:	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1 \$290,946.67249,382.90
Services Services Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training)	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73 3,807.392,538.27 Labor Total:	\$4,407,584.712,938,389.80 \$920,350.52613.566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1
Services Services Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training)	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06 \$73.06 \$70.28	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73 3,807.392,538.27 Labor Total: Other Direct Costs:	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1 \$290,946.67249,382.90
Services Services Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training) SPO Overtime (Training)	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06 \$73.06 \$70.28	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73 3,807.392,538.27 Labor Total: Other Direct Costs: TOTAL:	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1 \$290,946.67249,382.90
Services Services Services Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training) SPO Overtime (Training)	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06 \$73.06 \$70.28	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73 3,807.392,538.27 Labor Total: Other Direct Costs: TOTAL:	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1 \$290,946.67249,382.90
Services Services Services Services Services Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training) SPO Overtime (Training)	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06 \$73.06 \$70.28 CLIN 00002 2024 - Septembe Fixed Hourly	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903.099.60 1,042.70618.80 760.11506.73 3,807.392,538.27 Labor Total: Other Direct Costs: TOTAL:	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1 \$290,946.67249,382.90 \$4,781,463.047,106,997.1
Services Services Services Services Services Services Services Services Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training) SPO Overtime (Training)	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06 \$73.06 \$70.28 CLIN 00002 2024 - Septembe Fixed Hourly Rate	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903.099.60 1,042.70618.80 760.11506.73 3,807.392,538.27 Labor Total: Other Direct Costs: TOTAL: DPLH	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1 \$290,946.67249,382.90 \$4,781,463.047,106,997.1
Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training) SPO Overtime (Training) March 1, 2 Labor Category Security Police Officers (SPOs)	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06 \$73.06 \$70.28 CLIN 00002 2024 - Septembe Fixed Hourly Rate \$61.97	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73 3,807.392,538.27 Labor Total: Other Direct Costs: TOTAL: PDPLH 24,280.20	\$4,407,584.712,938,389.80 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1 \$290,946.67249,382.90 \$4,781,463.047,106,997.1
Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training) SPO Overtime (Training) March 1, 2 Labor Category Security Police Officers (SPOs) SPO Shift Supervisors	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06 \$73.06 \$70.28 CLIN 00002 2024 - Septembe Fixed Hourly Rate \$61.97 \$64.82	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73 3,807.392.538.27 Labor Total: Other Direct Costs: TOTAL: PDPLH 24,280.20 4,847.27	\$4,407,584.712,938,389.86 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1 \$290,946.67249,382.90 \$4,781,463.047,106,997.1
Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training) SPO Overtime (Training) March 1, 2 Labor Category Security Police Officers (SPOs) SPO Shift Supervisors Protective Force Manager (PFM)	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06 \$73.06 \$70.28 CLIN 00002 2024 - Septembe Fixed Hourly Rate \$61.97 \$64.82 \$90.98	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73 3,807.392.538.27 Labor Total: Other Direct Costs: TOTAL: PPLH 24,280.20 4,847.27 1,102.67	\$4,407,584.712,938,389.86 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1 \$290,946.67249,382.90 \$4,781,463.047,106,997.1
Services	SPO Shift Supervisors Protective Force Manager (PFM) Commander/Instructor Administrative Support New Hire Training Security Police Officers (SPOs) Overtime SPO Shift Supervisors Overtime SPO Supervisor Overtime (Training) SPO Overtime (Training) March 1, 2 Labor Category Security Police Officers (SPOs) SPO Shift Supervisors	\$63.29 \$88.84 \$71.23 \$45.85 \$27.48 \$70.28 \$73.06 \$73.06 \$70.28 CLIN 00002 2024 - Septembe Fixed Hourly Rate \$61.97 \$64.82	14,541.809,694.53 3,296.002,193.33 3,296.002,193.33 3,254.002,165.33 2,800.001,866.67 4,767.903,099.60 1,042.70618.80 760.11506.73 3,807.392.538.27 Labor Total: Other Direct Costs: TOTAL: PDPLH 24,280.20 4,847.27	\$4,407,584.712,938,389.86 \$920,350.52613,566.80 \$292,816.64194,855.44 \$234,774.08156,230.90 \$149,195.9099,280.38 \$76,944.0051,296.09 \$335,088.01217,839.89 \$76,179.6645,209.53 \$55,533.3937,021.69 \$267,583.60178,389.62 \$6,816,050.524,532,080.1 \$290,946.67249,382.90 \$4,781,463.047,106,997.1

<u>Services</u>	New Hire Training	<u>\$28.13</u>	<u>933.33</u>	<u>\$26,254.57</u>
<u>Services</u>	<u>Security Police Officers (SPOs)</u> <u>Overtime</u>	<u>\$70.28</u>	1,668.30	\$117,248.12
Services	SPO Shift Supervisors Overtime	<u>\$73.06</u>	423.90	\$30,970.13
Services	SPO Supervisor Overtime (Training)	\$73.06	253.38	\$18,511.94
Services	SPO Overtime (Training)	\$70.28	1,269.12	\$89,193.75
			Labor Total:	\$2,332,907.20
_			Other Direct Costs:	\$124,691.40
			TOTAL:	<u>\$2,457,598.60</u>
		1 2022		#4 #0 # co coo
	July 1 2022 - I	anuary 1, 2022 -	June 30, 2022 Total: 2 <mark>23</mark> (Wage Increase)	\$1,595,606.88 \$ 2,017,864.24 2,017,864.24
			2 <u>4</u> (Wage Increase) 29, 2024 (FAMLI Act)	\$4,781,463.04
			30, 2024 (FAMLI Act)	\$7,106,997.19
		V .	024 (H&W Increase)	\$2,457,295.60
			ipment (Section J-A)	\$90,118.94
	CLIN 2 Total through			\$ 10,810,587.25 10,942,651.
		CLIN 00003	, ,	
	October 1,	2024 - Septemb	er 30, 2025	
Supplies/ Services	Labor Category	Fixed Hourly Rate	DPLH	Fully-Burdened Price
Services	Security Police Officers (SPOs)	\$ 62.12 _63.62	41,623.20	\$2,648,067.98\$2,585,633.18
Services	SPO Shift Supervisors	\$ 64.57 _66.13	8,309.60	\$549,513.85 <mark>\$536,550.87</mark>
Services	Protective Force Manager (PFM)	\$ 90.16 - <u>92.34</u>	1,880.00	<u>\$173,599.20</u> \$169,500.80
Services	Commander/Instructor	\$ 72.30 <u>74.03</u>	1,880.00	<u>\$139,176.40</u> \$135,924.00
Services	Administrative Support	\$ 46.55 <u>47.64</u>	1,856.00	<u>\$88,419.84</u> \$86,396.80
Services	New Hire Training	\$ 27.48 <u>28.13</u>	1,600.00	<u>\$45,008.00</u> \$4 3,968.00
Services	Security Police Officers (SPOs) Overtime	\$74.70	2,656.80	\$198,462.96
Services	SPO Shift Supervisors Overtime	\$77.64	530.40	\$41,180.26
Services	SPO Supervisor Overtime (Training)	\$77.64	434.34	\$33,722.16
Services	SPO Overtime (Training)	\$74.70	2,175.66	\$162,521.80
			Total Labor:	\$ 3,993,860.834,079,672.4
			Other Direct Costs:	\$113,780.91
	<u> </u>		CLIN 00003 TOTAL:	\$4 ,107,641.744 ,193,453.3
		CLIN 00004		
	October 1,	2025 - Septemb	er 30, 2026	
Supplies/		Fixed Hourly		Fully-Burdened Price New
Services	Labor Category	Rates	DPLH	Totals
Services	Security Police Officers (SPOs)	<u>\$65.78</u> \$64.23	41,623.20	\$2,737,974.10\\$2,673,458.1
Services	SPO Shift Supervisors	\$68.87 \$67.25	8,309.60	<u>\$572,282.15</u> \$558,820.60
Services	Protective Force Manager (PFM)	<u>\$93.74</u> \$91.54	1,880.00	\$176,231.20 \$172,095.20
Services	Commander/Instructor	<u>\$75.15</u> \$73.38	1,880.00	<u>\$141,282.00</u> \$137,954.40
Services	Administrative Support	<u>\$48.38</u> \$47.24	1,856.00	<u>\$89,793.28</u> \$ 87,677.44
Services	New Hire Training	<u>\$28.13</u> \$27.48	1,600.00	<u>\$45,008.00</u> \$43,968.00
Services	Security Police Officers (SPOs) Overtime	\$77.23	2,656.80	\$205,184.66
Services	SPO Shift Supervisors Overtime	\$80.86	530.40	\$42,888.14
Services	SPO Supervisor Overtime (Training)	\$80.86	434.34	\$35,120.73
Services	SPO Overtime (Training)	\$77.23	2,175.66	\$168,026.22
			Total Labor:	\$4 ,125,193.5 4 <u>,213,790.49</u>
			Other Direct Costs:	\$117,517.04
			CLIN 00004 TOTAL:	\$ 4,242,710.58 4,331,307.5

The rates are fully burdened (i.e. include all elements of direct and indirect costs) and shall remain fixed for the term of the contract. The rates apply to the prime offeror, each subcontractor, teaming partner, and/or joint venture partner.

- (b) The Contractor shall be reimbursed for the cost of materials, supplies, equipment, travel, and other direct costs in accordance with the applicable cost principles contained in the Contract clause at FAR 52.216-7, Allowable Cost and Payment. The estimated cost of materials, supplies, equipment, travel, or other direct costs for this Contract is \$605,372.24.
- (c) The total ceiling price of this contract is \$19,240,369.9719,546,842.98.
- (d) Payment for the DPLH provided and materials, supplies, equipment, travel and other direct costs, shall be made in accordance with DOE-G-2005 BILLING INSTRUCTIONS (MAR 2019).

(End of Clause)

B.3 DOE-B-2013 OBLIGATION OF FUNDS (OCT 2014)

Pursuant to the clause of this Contract at FAR 52.232-22, Limitation of Funds, total funds in the amount(s) specified below are obligated for the payment of allowable costs and fee.

CLIN	Supplies/Services	Obligated Amount	Ceiling Total
00001	Transition Services, shall be T&M and consist of those described in Section C.2: Period of Performance: Notice to Proceed (NTP) to 90 days after NTP.	\$79,430.40	\$79,430.40
00002	Security Services, shall be T&M and consist of those described in Section C.3 Period of Performance: 90 days after NTP to 2 years and 9 months after NTP.	\$10,777,206.58	\$ 10,810,587.25 <u>10,942,651.69</u>
00003	Security Services, shall T&M and consist of those described in Section C. (Option Line Item) Period of Performance: 3 years after NTP to 4 years after NTP.	\$1,200,000	\$4 ,107,641.74 4 <u>,193,453.36</u>
00004	Security Services, shall be T&M and consist of those described in Section C.3 (Option Line Item) Period of Performance: 4 Years after NTP to 5 years after NTP	TBD	\$4 ,242,710.58 4 <u>,331,307.53</u>

(End of Clause)